Efficiency vs P,

+0.01r
= E : : :
D.009f-+erererieeeeenees roseeeeeens e
> E : : :
£D.008F -+ wieeeeee SRRTEIEERE e
o o : : :
S 0 ARRRREERE SRR
V) H N N
0.006 y ERCTRRRS SCTRPRPORES e
0.005 oo e o
0.004 e Feeeeeeeeen e
((N0/ocRPRTRRLY & SURPRORPRS Beoeeeees e
0.002f -+ P Feeeeeeeeen e
0.001F------beeieeeeeeeee Beoeeeees e
o GOF
IS
o i . .
0.5 S EEEEEERRPPER [ EEERERRRPEEE R EETPRIEE
0 -1 : :2 3
07110 4, elf
—=— DQM_V0001_R000000001__Global__mkFit_baseline
—e— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000
—— DQM_V0001_R000000001__Global__mkFit_jcorelOmaxCand-24DUPremoval-1000
=0.01
%) E
L s
Q o
@008_— ------------------------------------------------
o E
£D.007f++eeborprrdeees ke e
o =
0.008fF === g [ioeremerbememen oo i
00055+ | freeeeeeebonennniigr B
O ToI SRR X || ERCEERE SRR | 0 1 ERERRE
0.003F
0.002F- :
o 14
0.001F -
e G- i
g [
14 [
0sf
-3 3
TP N

Efficiency vs ¢

o 0.0l
2] :
;1009 ;
(8] .
9.008E
5 :
£).007F
o :
0.006E:




	Contents
	Page 1


